S5e8CALCe

ITEM 203 - EXCAVATION

STA, 9+978.000 TO STA, 9+980.000

ACTUAL CHANNEL LENGTH = 2.000m

STA, 9+978.000 AH END AREA = 00 sg m
STA. 9+980.000 BK END AREA = 06 sg m
VOLUME 05 x (00 + 06> sg m X 2000 m
VIOLUME 06 cu m

W

STA 9+980.000 TO STA, S9+990.000

ACTUAL CHANNEL LENGTH = 12.777m
STA. S+380.000 AH END AREA = 47 sg m

STA, 9+990.000 BK END AREA = 83 sg m
VIOLUME 05 x (47 + 82 sgm X 12777 m
VIOLUME 843 cu m

(Tl

STA. S+990.000 TO STA. 10+010.000

ACTUAL CHANNEL LENGTH = 21739 m

STA, 9+990.000 AH END AREA = 48 sg m

STA. 10+010.000 BK END AREA = 34 sg m
VOLUME 05 x (48 + 54> sgm X 21739 m
VUILUME 1109 cu m

ol

STA, 10+010.000 TO STA. 10+020.000

ACTUAL CHANNEL LENGTH = 8.,986m
STA. 10+010.000 AH END AREA = 95 sg m

STA. 10+020.000 BK END AREA = 48 sg m
VIOLUME 05 x (95 + 48) sgm X 8986 m
VOLUME 64.2 cu m

Heodl

STA, 10+020.000 TO STA, 10+027/.500

ACTUAL CHANNEL LENGTH = 2.535m
STA, 10+020.000 AH END AREA = 06 sg m

STA., 104027500 BK END AREA = 0.0 sg m
VOLUME = 05 x 06 + 0.0 sgm X 2539 m
VOLUME = 08 cu m

ITEM 6259 - SEEDING

STA, 9+978.000 TO STA. 9+3980.000

ACTUAL CHANNEL LENGTH = 2.000m
STA, 9+978.000 AH END WIDTH = 0.0 m

STA. 9+980.000 BK END WIDTH = 20 m
AREA 0O x 0.0 + 200 m X 2000 m
AREA 2.0 sq m

11l

STA., 9+980.000 TO STA. 9+990.000

ACTUAL CHANNEL LENGTH = 12.777m
STA, 9+980.000 AH END WIDTH = 20 m

STA., 9+990.000 BK END WIDTH = 20 m
AREA 05 x (20 + 200 m X 12777 m
AREA 226 sg m

i

STA. 9+990.000 TO STA. 10+010.000

ACTUAL CHANNEL LENGTH = 21.739m
STA. 9+4990.000 AH END WIDTH = 0.0 m

STA, 10+010,.000 BK END WIDTH = 0.0 m
AREA = 05 x 0.0 + 00> m X 21.739 m

AREA = 0.0 sg m

CALCULATIONS FOR CHANNEL CROSS=SECTIHNS

STA. 10+010.000 TO STA. 10+020.000

ACTUAL CHANNEL LENGTH = 8.,986m
STA. 10+010.000 AH END WIDTH = 20 m

STA, 10+020.000 BK END WIDTH = 20 m
05 x 20 + 200 m X 8986 m

AREA
USE 1 cu m AREA

180 sg m

STA. 10+020.000 TO STA. 10+027.500

ACTUAL CHANNEL LENGTH = 2.535m
STA. 10+020.000 AH END AREA = 2.0 m

STA. 10+027.500 BK END AREA = 0.0 m
AREA = 05 x (20 + 000 m X 2335 m

USE 84 cu m AREA = 25 sg m

18 sg m

3 sam

TOTAL

USE 111 cu m ITEM 601 - ROCK CHANNEL PROTECTION

STA, 9+978.000 TO STA. 9+980.000
ACTUAL CHANNEL LENGTH = 2.000m

STA, 9+978.000 AH END WIDTH = 0.0 m

STA. 9+980.000 BK END WIDTH = 0.0 m
05 x 6.0 + 00> m X 2000 m X 073 m

VIOLUME
VIOLUME

il

0.0 cu m
USE 64 cu m

STA. 9+980.000 TO STA. 9+990.000

ACTUAL CHANNEL LENGTH = 12777m
STA, 9+980.000 AH END WIDTH = 3.5 m

STA, 9+990.000 BK END WIDTH = 9.2 m
VOLUME = 05 x (535 + 92> m X 12777 m X 073 m

VOLUME = 704 cu m
USE 1 cu m

TOTAL = 261 cu m

STA, 9+990.000 TO STA, 10+010.000

ACTUAL CHANNEL LENGTH = 21.73%9m
STA, 9+990.000 AH END WIDTH = 50 m

STA, 10+010.000 BK END WIDTH = 30 m
05 x (50 + S0 m X 21L./39 m X 0./95 m

VOLUME
VOLUME

81D cu m

STA. 10+010.000 TO STA. 10+020.000

ACTUAL CHANNEL LENGTH = 8.986m
USE 2 sg m STA. 10+010.000 AH END WIDTH = 98 m

STA, 10+020.000 BK END WIDTH = 5.6 m
VOLUME = 05 x (98 + 26> m X 8986 m X 0./5 m

VOLUME = 319 cu m

STA. 10+020.000 TO STA. 10+027.2500

ACTUAL CHANNEL LENGTH = 2.535m
USE 26 sg m STA, 10+020.000 AH END WIDTH = 00 m

STA., 10+4027.500 BK END WIDTH = 0.0 m
VOLUME = 05 x 06 + 00> m X 2333 m X 0,79 m

VOLUME = 00 cu m

USE O sgm NOTE: ALL STATIONS REFER TO CHANNEL BASE

49 sg m

0 cu m

70 cu m

82 Ccu m

oC CU M

0 cu m

TOTAL

204 cu m

CALCULATED
Jc
CHECKED

NT

SUPPLEMENTAL CHANNEL CALCULATIONS

LAK-528-8.095




